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AER D FRIRRIGRE
B3 —2 BEMICERT SEBESNDEECETHEE1/1) T F RIS
[ EEMEONE | BhEs 522BN011 B4 T LA | TG SRR AT 6 AT
) SEMMOTiRICHEET S SMERHA
ﬁﬁg TREOBHOFILAOKRES TREQHBESSLADKRES TREOBHOFILAOKRES TREOHBERILHDOKRES
= = T AVE R AVE T = = AV = AN =] =
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 462 57.56 | Thst | 0oo ~ 462|187 9.45 ZznLst 1.00 | 5.00 ~ 5.00 57.66 | =N | 5,00 ~ 5.00)| 1.87 9.45
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 672 84.87 | =hst | 0.oo ~ 0.00| 1.60 8.07 znLst 1.00 | 5.00 ~ 8.83 84.87 | =S | 5,00 ~ 883 | 1.60 8.07
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 7.06 89.60 | =hst | 0oo ~ 000|175 8.84 znLst 1.00 | 5.00 ~ 883 89.60 | =S | 5,00 ~ 883 |1.75 8.84
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 5.61 70.09 | =nLst | 0.00 ~ 0.00)1.74 8.78 znLst 1.00 | 5.00 ~ 6.20 70.09 | FnRS | 6,00 ~ 620|174 8.78
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 4.56 56.88 | Thst | 0oo ~ 0.00| 1.58 7.97 znLst 1.00 | 5.00 ~ 5.00 56.88 | =S | 5,00 ~ 5.00)| 1.568 7.97
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnList ~ Zh s ~ ZhnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZnLst ~ Zh s ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZnLst ~ ZhUs ~ ZhnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh s ~ ZhnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImEBZ S ~
zh st ~ s ~ zh st ~ s ~
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